
890 ADVENTURE R 2021 <2021><US><F9775U7>
EVAPORATIVE CANISTER

55637

Pos Part Number Description Additional Text Quantity

1 75015001200 CARBON CANISTER 1.00

2 76015015000 EVAP valve 1.00

3 63515026010 Retaining bracket ACF valve cp 1.00

4 63515003010 Hose clip ACF 1.00

5 6351500201033 Retaining bracket ACF 1.00

6 63515021000 ventilation hose evap.can. 1.00

7 78015119000 HOSE EPA D=10/16 L=2000MM 1.00

8 63515024100 Fuel tank vent hose 688mm 1.00

10 78015019000 HOSE EPA D=6/10 L=2000MM 1.00

11 63515028000 Hose ACF purge valve 1.00

12 78015019000 HOSE EPA D=6/10 L=2000MM 1.00

13 78015021000 HOSE EPA D=4/8 L=2000MM 2.00

14 64115026000 Hose connection nozzles 1.00



15 50337073000 shim 2.00

16 61315028100 Y-CONNECTOR YS 6-10-6 1.00

18 54603048100 clip nut M6 2.00

19 0024060136 HH collar screw M6x13 TX30 2.00

20 58431082100 YDNAC-clamp 10173 (16MM) 1.00

21 61315026100 Screw plug ACF 1.00

22 63503098030 Angle piece for overrun 1.00

23 0024060256 HH COLLAR SCREW M6X25 TX30 1.00

24 0025060166 HH collar screw M6x16 TX30 1.00

25 62142041000 DAMP. COMPONENT ABS MODUL 2.00

26 69014015000 collar bushing 6.1x9.2x15x8.5x 2.00

27 0024060206 HH collar screw M6x20 TX30 2.00


